LS.A-32
LS.A-32-AS

AR B4

- WA e B R B EPA) BRSO EAOR R, TR, b,
fE A Bt A

- AERES, EHWE,

- WA E T RIEN,

- LS.ARL A7 [ o 4 A9 K B

- LS.A-ASHEL . NBR#% 70 H KA LA ACF B B4, Wl HERL,
RN EEMGRARERRTRREE, WLEAZEE A WwEH, BF
FESSEARTHERLT, REQDHIAL,
TR F(RRIT Y, £2LE5121),

TR AT A BT, SN2 KA,

KFRBEHARCREN A T EBRMFRE T E, ZLHFFLT %
e BTl REEARAD, R EE, TUBEXME, KREMERE P,

T
— | - '
1
y 1
A<
R E R CReE R+t g | =5 | &F | T | =a
£ U K n g D L us h)|d 1| @ | s N | o gn
342121 | LS.A-32-14-M8x43 347121 LS.A-32-14-AS-M8x43 32 68 71 25 M8 43 14 14 2000 37 41
342125 | LS.A-32-14-M8x68 347125| LS.A-32-14-AS-MBx68 93 9% M8 68 47 51
342221 | LS.A-32-14-M10x43 347221| LS.A-32-14-AS-M10x43 68 71 M10 43 47 51
342225 | LS.A-32-14-M10x68 347225 LS.A-32-14-AS-M10x68 32 93 9% 25| M10 68 14 14 7000 59 63
342231 | LS.A-32-14-M10x98 347231 LS.A-32-14-AS-M10x98 123 126 M10 98 73 77
342321 | LS.A-32-14-M12x43 347321 | LS.A-32-14-AS-M12x43 68 71 M12 43 57 61
342325 | LS.A-32-14-M12x68 347325 LS.A-32-14-AS-M12x68 32 93 9% 25| M12 68 14 14 7000 4 78
342331 | LS.A-32-14-M12x98 347331 LS.A-32-14-AS-M12x98 123 126 M12 98 95 99
342521 | LS.A-32-14-M16x68 347521 | LS.A-32-14-AS5-M16x68 93 9% M16 68 118 122
342525 | LS.A-32-14-M16x108 | 347525 LS.A-32-14-AS-M16x108 22 133 136 25 M16 108 14 16 2000 170 174
342541 | LS.A-32-14-M16x148 | 347541| LS.A-32-14-AS-M16x148 173 176 M16 148 222 226
342561 | LS.A-32-14-M16x168 | 347561 | LS.A-32-14-AS-M16x168 193 196 M16 168 248 252

R ABARA ARALEEAMAT, BEREH LHRAE, SN RENBER,
# 45T A R

“ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

& (elesa+BANTER




